19
50
I(1 k2
A—>B—->C
(DA, B, C
dA] _ daB] _
dt dt
2 0 [Al=[Al,, [B]=[C]=0
€)) €y

[A]=[Aly exp(—kt)
k

[8]= [Alo {kz
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el _
dt
k << Kk [B]

[Al. [B], [C]

[Al. [B]. [C]

- — [exp(-kt)— exp(- kzt)]}
|

[C]=[Alp {1— 1 [k exp(=kit)— k exp(=k; t)]}
ko — Kk

dy
&+ ay = o(x)

y = exp(— ax){.[ q(x)exp(ax)dx+C }
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25 35 45 55 65
sec™ 1.72x 10° |6.65x 107 24.95x 10 | 75.0%x 10° 240x 107
E
k k = Aexp(-—=
p( RT)
/T, logk
/41 EO
/41 EO
R = 8.31 (JK'mol™?), log,10 = 2.303
25 65
AS™), E (kImol™) 0 =273 K
E=10 10° (kJmol™) A=10%  10%(s™)
/41 EO /41 EO
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